
 

 

 
3 5  G R E E N  S T R E E T  P O  B O X  6 5 3  M A L D E N ,  

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

AS-Inte
Installation M

 
AS-Interface Installation Manua

Rev A  Ap
ASAHI / AMERICA, Inc.

Thermoplastic Valves and Piping  Systems

®

M A .  0 2 1 4 8  
rface 
anual

l   Page 1 of 9 
ril 16, 2003 



 

Pneumatic Installation 
AS-I Operation 

T he top mounted sensor has two proximity switches located in a compact 
sealed housing. The target puck has two metallic screws located 90 º apart at 
two different heights and is mounted on the actuator shaft. As the actuator 

cycles, the metallic screws align with the sensor and activate the proximity switch. 
When the valve is open, the top screw is directly in front of the sensor and an open 
valve status is shown. When the valve is closed, the bottom screw is directly in front of 
the sensor and a close status is shown. 

 

AS-I Installation 

Reference drawing # 0037MI 

W ith the actuator #2 in the closed position, hold the puck #21 in front of 
you with the male “coupling” in line with the actuator shaft and the screw 
holes facing the back of the actuator (there will be no holes facing you). 

The bottom screw hole to the left is the closed target and requires the silver screw (the 
top uses a black screw). Rotate the puck 90 ºcounter-clockwise. The top screw hole to 

the left is the open target and requires the silver screw (the bottom uses the black 
screw). Align the puck #21 on the shaft so that the silver screw is on the bottom and 
to the left of the actuator ports. Lay the indicator strip #22 across the puck #21 to 
indicate the closed position and secure to the actuator shaft with the screw #23 
provided.  

Install the sensor #19 to the top of the actuator #2 with the supplied support plate 
#24, washers #25, and screws #20. Allow minimal clearance before tightening. 

Install the solenoid #12 directly to the actuator #2 such that the coil is facing 
downward, and secure with the screws #11 provided. Connect the sensor #19 to the 
solenoid #12 using the supplied cable #16 and tighten; making sure that the gasket 
#17 is in place. Installation of components is complete. 

AS-I Maintenance 

T he use of filtered lubricated air is recommended for above average cycle life of 
the solenoid and actuator (lubricant must be compatible with NBR and 
FKM). As with any device, periodic inspection is recommended for the 

solenoid, sensor, and actuator; although not required.  

 
AS-Interface Installation Manual   Page 2 of 9 

Rev A  April 16, 2003 



 

Sensor Specifications 
 al Design 

 

 

 

 

 

 

 

 

 

 

 

 

 

  
Electric 2 inputs/2 outputs 
Output Transistor PNP 
Operating Voltage 26.5…31.6 VDC 
Current Consumption <260 mA 
    
    

INPUTS   
Input Circuit DC PNP 
Sensor Supply AS-I 
Voltage Range 20…30 VDC 
Short-circuit Protection — 
    
    

OUTPUTS   
Electrically Separated — 
Short-circuit Protection • 
Integrated Watchdog • 
Max. Current Load per Output 100 
    
Function/Display   
Operation LED Green 
Function LED Red 
Maximum Temperature 176ºF 
Protection IP67 
Housing Material Pocan; PC 
Socket M12 SS 
Solenoid Specifications 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

  
Port Size 1/4 NPT 
CV 0.75 
Maximum Pressure 115 psi 
Maximum Temperature 125ºF 
Current Consumption .75 watt 
Coil Epoxy Encapsulated 
Protection IP65 
Body Anodized Aluminum 
Spool/Piston Synthetic Resin 
O-Rings NBR + FKM 
AS-Interface Installation Manual   Page 3 of 9 



 

USER INFORMATION 

SERIES 79P PNEUMATIC ACTUATOR 

T he Series 79P Pneumatic Actuator is a double-opposed piston, double 
rack and pinion, quarter turn operator. 

P
high impa

iston, piston guides, racks and pinion are molded from Nylon 66 resin for 
ct resistance and durability. 

Body and end caps are 316SS, polyester glass filled, or aluminum castings coated 
with Nylon 11 on inside and outside.  This coating provides a smooth, low friction 
scratchproof surface, which is wear resistant and withstands corrosion.  This style 
actuator has two opposed pistons with racks engaging with a single pinion on the 
actuator shaft.  Racks and pinion engage with massive teeth over full length of 
pinion, resulting in balanced forces with minimal backlash. 

Actuator shaft is Stainless Steel (Series 300) Sizes A, B, C, D and Phosphatized 
Steel Sizes E, F and G. 

Actuator may be used with liquid as the power source as long as liquid is 
compatible with actuator internals, and contains no suspended particles. 

 
Air Requirement 

 

T he condition and quality of the compressed air supply to an actuator will 
affect the efficiency and the life of the seals, bearings and actuator in 
general. We recommend installing a shutoff valve ahead of actuator to 

allow shutoff of air to allow removal of valve and actuator. 
Clean, instrument quality dry air or gas is recommended for satisfactory operation.  
Lubricated air is acceptable, but is not necessary. 
 
Caution: If air lubricators are used, the lubricant selected must be 
compatible with Nylon 66, Nylon 11 polyester glass filled, Nitrile (Buna-N) and 
Viton (FKM). 
 
Factory assembled units are sized for operating air pressures of 80 PSI minimum 
to 120 PSI maximum.  If lower air supply pressures are available, actuator/valve 
combination may need to be resized.  Contact your Asahi/America representative 
for information. 
 
The actuator environment temperature limits are -25°F and 195°F. 
 

AS-Interface Installation Manual   Page 4 of 9 



 

Installation of  Ball Valve to Actuator 

 
Position the valve and the actuator to corresponding positions 
(either OPEN or CLOSED).  The flats on the actuator shaft 
extension and the indicator knob should indicate valve position. 
 
 

A. Multi Port Ball Valves:  (See Drawing #0124BV, sizes ½” - 2”) 
Install plate #8 to actuator #2 using screws #7 (1-1/2” and 2” 
only). Mount saddle #5 onto valve #1, (Saddle is an interference 
fit over neck of valve press down tight), then tighten setscrews #3 
to secure in place.  Insert coupling #6 onto stem of valve #1 and 
bolt actuator #2 onto assembly tightening bolts #4 evenly. 

 
B. Multi Port Ball Valves:  (See Drawing #0125BV, sizes 2-1/2” -  4”) 

Install plate #6 to actuator #2 using screws #8. Mount saddle #5 
onto valve #1, (Saddle is an interference fit over neck of valve 
press down tight must also be solvent cemented to valve body), 
then tighten setscrews #3 to secure in place.  Insert Coupling #6 
onto stem of valve #1 and bolt actuator #2 onto assembly 
tightening bolts #4 evenly.  

 
Note:   Due to the torque required on sizes 3” and 4”, we 

recommend that saddle #5 for PVC and CPVC be solvent 
cemented to valve as well as using set screws #3. 

 
C. Type 21 Ball Valves (See Drawing #0121BV sizes 1/2" – 2”) 

Install mounting bracket #3 to actuator #2 using bolts #8 and 
washers #9. Insert coupling #4 on stem of valve #1 and then bolt 
valve #1 to mounting bracket #3 using bolts #5, nuts #6, and 
washers #7. 

 
Note:  All bolts should be snug and not excessively over 

tightened. 
 

D. Type 21 Ball Valves (See Drawing #0123BV sizes 2-1/2" - 4") 
Install mounting bracket #3 to actuator #2 using bolts #8 and 
washers #9. Insert coupling #4 on stem of valve #1 and then bolt 
valve #1 to mounting bracket #3 using bolts #5, nuts #6, and 
washers #7. 

Note:   All bolts should be snug and not excessively over tightened. 

AS-Interface Installation Manual   Page 5 of 9 



 

Installation of  Butterfly Valve to Actuator 

 
Position the valve and the actuator to corresponding positions 
(either OPEN or CLOSED).  The flats on the actuator shaft 
extension and the indicator knob should indicate valve position. 

 
 
Butterfly Valves (sizes 1-1/2” thru 6”):  (See drawing # 0210BF) 

All Type 56 butterfly valves as a standard feature conform to an 
ISO 5211/I-5211/II-DIN-3.337 specification standard.  Butterfly 
valves sizes 1-1/2” thru 4” conform to an F07 bolt pattern.  
Butterfly valves sizes 5” thru 8” are classified as having an F10 bolt 
pattern.  No specially machined stem or valve body drilling 
required.  Remove handle (remove handle cap and hex head bolt) 
to expose throttle plate screws.  Remove throttle plate and 
retaining washer to expose existing F07 or F10 bolt pattern.   

 
CAUTION:  If valve is in line, system must be shut down and 
have no line pressure before removing throttle plate and retaining 
washer. 

 
Insert coupling #4 into actuator #2.   
Mount bracket #3 to actuator #2 with bolts #8 and washers #9 
and tighten evenly.  Install valve #1 onto mounting bracket #3 
and align stem of valve to engage with coupling #4. (Line scribed 
on top of stem indicates disc orientation)  Install bolts #5, nuts #7 
and washers #6 and tighten evenly.  Flats on actuator shaft 
indicate valve position.  (Disc Orientation) 
 
 
CAUTION:  If mounted unit is installed other than straight up, 
the actuator should be supported individually in order to prevent 
side loading and loosening up of fasteners. 

 
 

Solenoid Operation 

A 
 

ctuated valves supplied with factory installed solenoid, the cycling is 
accomplished by energizing the coil for one valve position and de-
energizing the solenoid coil for the opposite valve position.  The unit is 

AS-Interface Installation Manual   Page 6 of 9 



 

electrically fail-safe.  It will return to its de-energized position on electrical failure.  
This applies to air to air and air to spring models provided air supply is not 
interrupted. 
 

Note: On electrical failure unit can be manually cycled by one of the 
following: 

 
A. Depressing and rotating red slotted screw on solenoid block 90° 

providing air supply is not interrupted. 
 

B. Engaging wrench on flats of actuator shaft extension.  This will be 
difficult on spring return models.  On larger models where excessive 
torque is required to compress springs, a declutchable manual override 
is recommended. 

 
 
Actuator Maintenance 

 
Caution: Isolate actuator from electrical power supply and compressed air 

supply before any maintenance is performed. Make sure both sides 
of pistons have been bled off. 

 
The Series 79P double rack and pinion actuators do not need any preventative 
maintenance. 
 
Periodic checks could be performed to ensure proper tightness of all fasteners. 
 
 
 

 
 

Failure to

The actuat
actuator is 

fix

 
 
 
 
 
 
 
 
 

CAUTION --- DANGER!!!!!! 
 use proper tools can result in SERIOUS INJURY! 

 

or springs are very strong and are compressed when 
assembled. A machine press (not a vise) and proper 
tures are required to disassemble actuator. 
 

AS-Interface Installation Manual   Page 7 of 9 



 

AS-Interface Installation Manual   Page 8 of 9 

S andwich end caps in a hydraulic press. Only open one end at a time.  
Remove end cap snap ring or bolts and gradually release hydraulic pressure 
until springs are fully relaxed.  

 
 
 
Repair Kits 

 
MODEL PART# 
A79P  2398001 
B79PS  2398000 
C79PS  2398010 
D79PS  2398020 
E79PS  2398030 
F79PS  2398040 
G79PS  2398050 

 
 
Each kit includes 
(See exploded view drawing) 
 
1. One set of Piston “O” rings    P/N 7 
2. One set of End Cap “O” rings    P/N 6 
3. Output shaft “O” rings    P/N 8 & 9 
4. Lock washer (shaft)     P/N 10 
5. Washer       P/N 11 

 
 
 

NOTE: When ordering replacement actuator parts and/or options, specify model 
number and voltage.    
 
 
 
 
 

Attachments: 
8 drawings: 0037MI, 0124BV, 0125BV, 0131BV, 0121BV, 0123BV, 0210BF, 1233 

 
 
 
 
 
 
 



 

 
 
 
 
 
 
 
 
 
 
 
 
 

 

 
 
 

ASAHI/AMERICA 
35 Green Street 

Malden, Ma. 02148 
 
 

Phone: 800-343-3618 
Fax: 800-426-7058 

 
Internet: http://www.asahi-america.com 

 
 
 
 
 
 
 
 
 
 
 
 
 

AS-Interface Installation Manual   Page 9 of 9 



KMiyazaki
FOR REFERENCE ONLY
ASAHI/AMERICA



KMiyazaki
FOR REFERENCE ONLY
ASAHI/AMERICA



KMiyazaki
FOR REFERENCE ONLY
ASAHI/AMERICA



KMiyazaki
FOR REFERENCE ONLY
ASAHI/AMERICA



KMiyazaki
FOR REFERENCE ONLY
ASAHI/AMERICA



KMiyazaki
FOR REFERENCE ONLY
ASAHI/AMERICA



KMiyazaki
FOR REFERENCE ONLY
ASAHI/AMERICA



KMiyazaki
FOR REFERENCE ONLY
ASAHI/AMERICA




